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1P. Przyktadami zastosowania iloczynu wektorowego do
definiowania wielkosci fizycznych s3 :

A) praca, ped i moment sity

B) ped, moment sity, moment pedu

C) ped, sita Lorentza, moment sity

D) sita Lorentza, moment sity, moment pedu
)

m

zadna odpowiedz nie jest prawidtowa

1A. The examples of scalar quantities in Physics, given by the
scalar product, are:

A) work, momentum and kinetic energy
B) work and kinetic energy

C) work and momentum

D) momentum and kinetic energy

E) There is no correct answer
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2P. Wektor o dtugosci 20 dodano do wektora o dtugosci 25.
Dtugos¢ wektora bedgcego sumg wektorow moze byc
rowna:

A) zero B)3 C) 12 D)47 E) 50

2A. A vector of magnitude 3 CANNOT be added to a vector of
magnitude 4 so that the magnitude of the resultant is:

A) zero B)1 C)3 D)5 E)7
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3P. Czagstce natadowanej nadano predkosc¢ rownolegtg do
osi OX i wpuszczono do pola magnetycznego o
kierunku osi OY. Kagt pomiedzy wektorem sity Lorentza
a kierunkiem osi OX wynosi:

A) 0° B)30° C)60° D)90°  E)180°

3A. Velocity of charged particle has a component of 10 m/s in
the +x direction, a component of 10 m/s m in the +y
direction, and a component of 5 m/s in the +z direction.
Uniform magnetic field is along +z direction. The magnitude
of velocity vector and the Lorentz force are:

A) 0;0 B)15m/s; charge dependent C)15m/s; 0
D) 15 m/s; 10 N E) 25 m/s; impossible to determine
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4P. Dwa wektory, ktorych poczatki sie pokrywajg, tworzg
pewien kat. Jezeli kgt pomiedzy tymi wektorami
zwiekszy sie o 20° to iloczyn skalarny tych dwoch
wektorow zmienia znak na przeciwny. Kat, ktory
poczatkowo tworzyty te dwa wektory wynosi:

A) 0 B) 609 C)70°  D)80°  E)9Q°

4A. Two vectors have magnitudes of 10 and 15. The angle
between them when they are drawn with their tails at the
same point is 65°. The component of the longer vector
along the line of the shorter is:

A O B)4.2 C)6.3 D) 9.1 E)14
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5P. Dwa wektory — a=3i-(2m)j b=2m)i+@3m)j—(2mk
wyznaczajg jednoznacznie ptaszczyzne. Ktory z
wektorow jest prostopadty do tej ptaszczyzny:

A) (4m);+(6m)j—(l3m)lg D) (4m)f—(6m)}+(13m)l:t
B) “m)i+(6m)j E) @m)i+6m)j+(13mk

C) (-4 m)i +(6m)j+(13m)k

5A. The result of io (ix k) in Cartesian coordinate
system is:

A) zero B)+1 C)-1 D)3 E)~3
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